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1. FRAESRETIE BB A RHZE,  y=0.4768x-0.0013  (x NARAESRIKSE, umol/mL; y 9 A A).
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GOT (nmol/min/mL) = (AA+0.0013) +0.4768+Tx10°=104.9x (AA+0.0013)
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GOT (nmol/min/mg prot) =[ (AA+0.0013) +0.4786xV1]+(V1xCpr)+Tx10? =104.9x (AA+0.0013) +~Cpr
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GOT (nmol/min/10* cell) =[ (AA+0.0013) +0.4768xV1]+(500xV1+V2)=Tx10° =0.21x (AA+0.0013)
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1. PRUEZAE R E T sk,  y=0.2384x-0.0013  (x AARAESRIKE, umol/mL; y A A).
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FALERE S A mL 0GR R BRI E Inmol A ERRR & SN — MRS /1 A7
GOT (nmol/min/mL) = (AA+0.0013) +0.2384+Tx10°=209.7x (AA+0.0013)
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ALY E S B mg AU R B 2E T nmol AR 2 SR — MG ) 84
GOT (nmol/min/mg prot) =[ (AA+0.0013) +0.2384xV1]+(VIxCpr)+Tx10> =209.7x (AA+0.0013) +Cpr
T ANINE, WAL R BCA & A BS SN E .
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GOT (nmol/min/g #8) =[ (AA+0.0013) +0.2384xV1]+(WxV1+V2)=Tx10?=209.7x (AA+0.0013) +W
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GOT (nmol/min/10* cell) =[ (AA+0.0013) +0.2384xV1]+(500xV1+V2)+=Tx103=0.419%x (AA+0.0013)

V1: MARSAR R PAEARER, 0.0lmL; V2: MARBOEAER, 1 mL; T: KMEE], 20 min; Cpr: &HH
JRIEE, mg/mL; W: BEARFIE, g; 500: ZUMLERANE L%, 500 Ji; 10%: lumol/mL=10% nmol/mL.

HE:
1. AerERRZ LM IEEYY: 0.01 umol/mL -2 umol/mL.
2. AAZMVEEN: 0.01-1.
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